(2¥i9 1212) Active NY'WD MY = NIIN NNIY 'NY nnm'p pIVLS) |"122

(21v9 11212) Passive N2'20 NN

My9 pwn

. (hidden) "no ,(is named) 'Nyp ,(devoted) 7lon MY ,Ima ,2md ,ji9T LI7T LYNT 9N

1y9 Passive 2vio  Active waIwn
NNNY  0™NMRY NN Y | nnniv omniv Miniv aniv .n.y
nrNE ovng Ny M| g oip Mg KR RA.7
NINNF  O'NNP DORNR NN
B 115 » 17 o UL o (7SS 5 117 S 5 1] nniY oMmiy NN DY n.n.y

N7 DVO N DN

nuna oy mYTa orTa Nt

TNyl

ni7' o' N

Y130 *

:0"Tni'n 0"gn oal

qy9 Ypwn

(stick to) 7271 ,9w 0% ,|v' ,war a0y (AxN) yon ,ynn 27 772
1t

.(humble /low) 99w

MM by heart N9 7wa nnwnn Nx TInYY

21iy9 17un
(TN19) 1iar i

% Check if the sentence is Active or Passive and you will know if to use “wi® IX %y9

.OITRN 90NN DY'WN . PINDYT 2700 NN
Jnanna D'T'R7NN 0N 7w 902
SMandw n7'ma nixn .ni7n NX
.y oy 27n T2 " DN Anw 2

.0'ITR D'N192
A
.0'Yyn
.yina n'znwn 01
.DITNN 190N NN

T N

nomwn NN W

a™mn PN v namn
0*7ann .rope 7ann NX
T™nn .0N9Y%

namn .orn '

NNan .Imn oy gne?

o' T -p'niph/onmt A
oMY'wN -p'amd/orann .2
mMma -ppinn/npnim .3

YN e fniv 4
P =mipynnpn 8

. ~1n /nin .6
n'olon -o'ninn/o'nnin .7

™Ynn =Xy /NN L8

nnnn =anme/nnnio .9

nman -nrx/nixn 10



